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QUESTION 1
Your consulting company has been asked to enhance an existing application. The current application is a
100% Real QandAs | 100% Real Pass

two-tier system in which all the business logic is located in thick clients. You are considering a solution that would
involve moving the business logic into the server\\'s database In the form of stored procedures.

Which statement is an expected outcome of your proposed solution?
A. It will improve the scalability of the system.

B. It will improve the manageability of the system.

C. It will recline the amount of traffic on the network.

D. It will, in effect, turn the application into a three-tier system.

Correct Answer: B

QUESTION 2

Which two statements are true about RESTful web services?

A. They can be both stateful and stateless.

B. They support the use of AJAX in web applications.

C. They are often similar than their Simple Object Access protocol (SOAP) equivalents.

D. They are independent of the transport protocol.

E. They support Remote Procedure Call (RPC) and message-Oriented Middleware (MOM) integration styles.

Correct Answer: BC

QUESTION 3

Which is an objective of the Strategy pattern?

A. To provide a way to configure a class with one of many behaviors

B. To define an object that encapsulates how a set of objects interacts

C. To define the skeleton of an algorithm, deferring some steps to subclasses

D. To decouple an abstraction horn its implementation so that the two can vary independently

E. To define a family of algorithms, encapsulate each one, and make them interchangeable
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F. To allow subclasses to redefine certain steps of an algorithm without changing the algorithm\\'s structure

Correct Answer: A

QUESTION 4

Which option describes the design relationship between session beans and entity beans?
A. Aggregation

B. Separation of concerns

C. Common reuse principle

D. Liskov substitution principle

E. Interface segregation principle

Correct Answer: B

QUESTION 5

You need to restrict access to the administration screens in your website. Which two techniques test a user\\'s
permissions before granting access to a particular screen?

A. Enterprise JavaBeans (EJB) entity
B. Servlet filter

C. Custom tag library

D. Deployment descriptor

E. Custom JavaScript in JSP

Correct Answer: BD
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